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= 17,660,969 14,831,969 2,829,000
z 7,948,000 7,948,000 0
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< 19,767,427 18,447,002 1,320,425
sEXNT Jlsdst 13,420,510 13,383,010 37,500
= 160,000 160,000 0
= 7,309,000 7,309,000 0
< 5,951,510 5,914,010 37,500
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307 2Ito1d 420,000 390,000 30,000
02 2B HAHE 170,000 140,000 30,000
OsEES
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308 AHAIEMSOIE 855,500 848,000 7,500
01 HXHH B2 X 855,500 848,000 7,500
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2 7,500 0 7,500
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OZAZ BRZ2 AKX 1,300 0 1,300
p 650 0 650
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IEEs (S BY +300F X9 100,000 260,000 £160,000
=2 100,000 260,000 £160,000
403 XXM S K20l & 100,000 260,000 1,160,000
2 100,000 260,000 160,000
01 XIS E 100,000 260,000 160,000
OBY % S2HHY A0E ASAIE X 0 160,000 1,160,000
= 0 160,000 /160,000
# ADIEASAIA X9 320,000 0 320,000
= 320,000 0 320,000
408 XX S SKH=0IH 320,000 0 320,000
2 320,000 0 320,000
01 UK SRR =L E 320,000 0 320,000
OBY % SI20HE A0IE ASAE X2 320,000 0 320,000
= 320,000 0 320,000
SEME KL X2 2,311,690 2,251,690 60,000
=2 300,500 300,500 0
= 639,000 639,000 0
= 1,372,190 1,312,190 60,000
Apsystes X2 N8 2 243 90,000 30,000 60,000
201 LBt2 ] 80,000 30,000 50,000
01 AR 22lt] 0,000 0 0,000
OXgsds £3 Ls2g| 0,000 0 0,000
2 ZZ2Y| 20,000 10,000 0,000
OXRsAME 22l 20,000 10,000 0,000
03 A2 | 50,000 20,000 30,000
OXfsY 227y 29 50,000 20,000 30,000
206 24| 5,000 0 5,000
01 24| 5,000 0 5,000
OxRsetzs XX HE| 5,000 0 5,000
301 LB 5,000 0 5,000
TETCEE 5,000 0 5,000
Oxgpsges XA D A 5,000 0 5,000
S0l OIMAE AAS XA (AT) 39,000 39,000 0
2 39,000 39,000 0
308 KX SHAISOI 39,000 0 39,000
= 39,000 0 39,000
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Z3) 0 39,000 39,000
= 0 39,000 39,000
S50 & SaEIAuS 3,724,482 4,934,357 1,200,875
= 1,455,939 2,758,439 1,302,500
< 2,268,543 2,175,918 R,625
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201 Ler2aY| 120,000 80,000 40,000
01 Ak 2teltl 120,000 80,000 40,000
OALIEH A Y &2 us 120,000 80,000 40,000
301 LEtEN S 270,000 40,000 230,000
1 HAMHIXIES 60,000 40,000 20,000
Ou=d sAtl S 60,000 40,000 20,000
HOBEd= 210,000 0 210,000
Ounsd s+ s 210,000 0 210,000
S 2SXE 138,700 120,700 18,000
201 Let2aY| 33,200 15,200 18,000
01 At 2teltl 33,200 15,200 18,000
Os2IH d21s 29 32,000 14,000 18,000
CAR SESFA XE 0 1,497,875 1,497,875
= 0 1,302,500 1,302,500
=S 0 195,375 195,375
308 AXIHMSOIH 0 1,497,875 1,497,875
= 0 1,302,500 1,302,500
< 0 195,375 195,375
01 MASNBSExRS 0 1,497,875 1,497,875
OFIs7HE FXXE AL 0 1,497,875 1,497,875
= 0 1,302,500 1,302,500
< 0 195,375 195,375
Hees(slisd sEXNE=) 12,000 0 12,000
SHENE (s sEXNES) 12,000 0 12,000
EMLES= IS 12,000 0 12,000
802 etet=DIEr 12,000 0 12,000
01 sNEXSEHES 12,000 0 12,000
OsEXEE0 2 12X3 getd 12,000 0 12,000
293H(s)1=8 sEXER) 135,000 132,000 3,000
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